
 

1) T1=m1V2
Bx /2                           T2=m2V2

Ay/2 

A  B 

    VBx = VAx- a ’sin     =>   VBx=-a ’sin  

     VBy = VAy+a ’cos  =>    VAy=-a ’cos  

     T=T1+ T2= ( m1a2 ’2sin2 )/2+(m2a2 ’2cos2 )/2= (Asin2  +Bcos2 ) 

2) K        O 

     VOx=VKx-rώzsin                     VKx= VBx                        VOx=VBx-rώzsin      

3) O           L             

    VLx=VOx--rώzsin   => VOx=rώz 

     Из 3) и 4)    =>     rώz= VBx- rώz     =>    ώz=
  =  

4) Q= (FVBx-(m2g)VAy-Mώz)                                                                                                                                 

( )- =Q 

= (A2sin cos +B2cos(-sin ))= (Asin2 -Bsin2 ) 

 

(Asin2 +Bcos2 )+ (Asin2 -Bsin2 ) = Q 

(Asin2 +Bcos2 )+ (Asin2 -Bsin2 ) = (FVBx-(m2g)VAy-Mώz)   



 

 

 

 

 

 

 

 

 

     

 

 

 

 

 

    

 


